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ECONOMICS
( Regular Generic )

Paper : ECO-RG-5016

( Economic Development and Policy in India—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed (any ten) :
1x10=10

wT PR RTHRpTR Ses il (R o wed) :
(a) What is sustainable development?
v T R 2

(bp) Mention one obstacle of economic
development of India.

TR AT Tagee b1 iy SrEy T4 |
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(2)

(c) Are economic growth and economic
development same?

Wﬁwwﬁﬂm%ﬁmm?

(d Human resource is essential for
economic development.

( Write True or False )
A T AT T o AR |,
- (3751 & iy o)
(e/ What is capital-output ratio?
Prg-Beotma SRS ¥ 2

() Mention one character of Indian
-economy as a developing economy.

%ﬁmﬁawﬁﬁﬁmﬂmwﬁmsﬂﬁ
a8y Sy 411

(g9 What is death rate?
TR

(h) What is the rate of urbanization in India
according to 2011 Census?

3053 B RS WS TSy w9 39
R 2

A23/387 : ( Continued )

(3)

(i Mention one cause of low sex ratio of
India.

OS] A et SReIre b1 19 SrEd 34 )

() What is disguised unemployment?
R e 2

(k) Write the full form of MGNREGA.
MGNREGAT #f o1 foriT |

() In which sector of India does the highest
percentage of working population get
employment?

TRSY (FFCH] 48T FHEIRTS SPRAR T
weE et airs 31 2

(m) What is meant by the unorganized
sector?

SRaS Ye IR B w2

(n) Tendulkar Committee is related to
poverty/agriculture.
( Choose the correct answer )

AR IR wReer/FRT 7w wive |
(o Teach AR Sferean)
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(o) When ‘was economic reform started in

@)

@

n

2. Answer any five from the following :

(4)

India? :

CRES (AT SLAE AFT TS T (A ?
Who prepares the monetary policy of

India?

TIReq U1 S PR 4TS FCI?
What is competition policy?
sffecarfarer A 72

Mention one measure taken by the
government to increase investment

in India.

sHoe R 3% PR I EIR @b

R CEy

wors AP i R e <iobia e forn -

(@)

(b)

A23/387

Mention two indicators of economic
growth.

it s 151 P SEd ¥4

Suggest two measures to maintain
sustainability of development.

T ITTENel I IRAA [P I/
SI5IACEHT |

( Continued )

2x5=10

()

(d)

(e)

(9)

(R

t

0
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(5)

Mention two determinants of human
capital formation.

TR R 0T 701 iR Tra 00

Mention two importances of technology
in development.

TraTe 2RISR 1 SFY TCEd 790 |

What is demographic dividend?
wRal-Rers s 752

What are the literacy rates of males and
females in India according to 2011
Census?

205 TR GIRPEE We SRES I3 WIF
TReR Pfret 79 Ram 2

What is open unemployment?
& fiea 762

Suggest two measures to reduce
disguised unemployment.

TR T IR o1 e SeRCen |
Write two causes of poverty in India.
TSRO WREOW o1 IR R |

What is Gadgil formula?
e i@ & 2
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(6) (7)
3. Answer any four of the following questions : (h) Explain the Centre-State financial
S5x4=20 , relation in India. :
wers i 2reared R e i Ted o ey E-1e R o g 40 1
(a) Explain the issues of economic growth. 4. Answer any four of the following questions :
el RPMR TFEBHTR AT 41 | , 10%4=40
() How does capital formation affect wor fiat epaerd R e BB TeT foran -
development? Explain. (a) Discuss the factors affecting economic
P oo R Sw AR I development.
| .
- ’ AT T RIS T4 FRITR SCAGH
(¢ What are the causes of urbanization in 1 ‘
India? Explain.
TRTS FHAFIT TR B 2 w01 (p) Discuss the trend of economic
. . ‘ development of India since
(d) Write a note on the density of : Independence.
population of India.

FRTOR [ SR AT TEww 4Al

TR TPRIR TS S9ITS o1 (OIt form |
AL 39 |

\
(e) Explain the role of physical capital in |
development. | (c) Discuss the role of various socio-

|

|

Tagere (SIfSF T SR I 391 | economic institutions in the economic

) . development of India.
() Explain the occupational structure of
population in the organized sector of O] W W ﬁm W‘W

India. PRI ST A 4 |

ORSy TIPS 19T ETPRAR e il (d) What are the causes of low capital

[T 40| formation in India? Discuss. .
(g) Explain the concept of eRed P W %R IRemE R OB

underemployment. ST 4T 1

A ISR Rt < 4 |
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(8)

(e) Discuss the causes of high rate of
population growth of India.
oeT SR IRT T T FRPIZ S
]

() Discuss the demographic profile of
India.
TRSY TPRAN-REEP I S 7 |

(g) Discuss the employment schemes taken
by the Government of India in the
planning period.

ARFEAT IPNIAS ©FS HIFA 429 I
Rzt TS SbITR ST 3991 |

(h) What are the causes of unemployment
problem of India? Discuss.

oReq PRF@ TFPIR FRPIR & &2 sneamon
!

() Discuss the causes of large-scale
income inequality in India.
TR R ARAR GH SPWOR  FRPHZ
HICAml ¥4 |

() Discuss the role of fiscal policy in
India’s economic development.

TReY AT CTmwe Re Afw R
A 4 |

* % %
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